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PSC Clerkship (Prelims) Exam. – Practice Set

1. (b) †îû&îû ”%öì•îû îû‚ „þÄyöìîûy!Ýþöì̃ îû vþzþ™!ßþi!“þîû ‹˜Ä !„þŠ%éÝþy £œ%”
îöì’Åîû £ëûÐ

2. (a) „þ„ÅþÝþe«y!hsþ öîû…y myîûy x!“þe«yhsþ þ™!Øþ›îöìDîû ö‹œy=!œ £œ
þ™%îû&!œëûy Sxyoy– ‹ëûþ™%îûV– î¤y„%þvþüy S”%œÅ¦þþ™%îûV– î•Å›y˜ S=¢„þîûy–
”%†Åyþ™%îû ~î‚ xyvþzŸ@ùÌy›V ~î‚ ̃ ”#ëûy S•%î%!œëûy ç „,þ¡Œ˜†îûVÐ

3. (a) xy!šÊþ„þyîû ˜y£zöì‹!îûëûy ö›!˜˜‹y£z!Ýþ¢ ¦þy£zîûy¢ ²Ì!“þöìîûyöì•îû
‹˜Ä ²Ìí› ö”Ÿ !£öì¢öìî ¦þÄy„þ!¢˜ ‰þyœ% „þîûœÐ

4. (a)  !“þîû&þ™!“þ îyœy!‹ ›!¨îû xõÉþ²Ìöì”öìŸ xî!ßþi“þ ~î‚ ~!Ýþ
!“þîû&›yœy þ™y£yöìvþü xî!ßþi“þÐ

 !“þîû&þ™!“þ îyœy!‹ ¦þ†îy˜ !î¡%Œîû ~„þ!Ýþ îû*þ™Ð
 ¦þyîûöì“þîû •˜# ›!¨öìîûîû “þy!œ„þyëû Ÿ#öì¡ìÅ îûöìëûöìŠé !“þîû&þ™!“þ

îyœy!‹ ›!¨îûÐ

5. (b) ‹ëû²Ì„þyŸ ˜yîûyëû’ ¦þyîûöì“þ ò”œ£#˜ †’“þöìsþfîûó ²Ìhßþyî
þ„þöìîû!Šéöìœ˜Ð !“þ!˜ öœy„þ˜yëû„þ ˜yöì› þ™!îû!‰þ“þÐ !“þ!˜ ~„þ‹˜
¦þyîû“þ#ëû ßþºy•#˜“þy ¢‚@ùÌy›#– ¢›y‹“þy!sþf„þ ~î‚ îûy‹÷ì̃ !“þ„þ
ö˜“þy !Šéöìœ˜Ð

6. (a) ‘Basic Structure and Republic’ î£z!Ýþ !œöì…öìŠé˜
ö†yëûyîû îûy‹Äþ™yœ !þ™ ~¢ ×#•îû̃  !þ™ÍÔy£zÐ

7. (b) ‰þyöìþ™îû ~„þ!Ýþ ~„þ„þ £œ ÝþîûÐ Ýþîû 133.32 þ™Äy¢„þÄyöìœîû
¢›y˜Ð

8. (c) îöì̈  ›y“þîû› †y˜!Ýþ 1896 ¢yöìœ „þœ„þy“þy x!•öìîŸöì̃
²Ìí›îyîû †yçëûy £öìëû!ŠéœÐ „þœ„þy“þy x!•öìîŸöì̃ îû ¢¦þyþ™!“þ
!Šéöìœ˜ îû£›“%þÍÔy£ ~› ¢yëûy!˜Ð

9. (c) îÄyˆ ~î‚ ¢yþ™ vþz¦þëû£z Ÿ#“þœ îûöì_«îû ²Ìy’#îû vþz”y£îû’Ð îÄyˆ
Ÿ#“þœ îûöì_«îû ²Ìy’#Ð “þyöì”îû Ÿîû#öìîûîû “þyþ™›yey xyöìŸþ™yöìŸîû
“þyþ™›yeyîû ¢yöìí þ™!îûî!“Åþ“þ £ëûÐ ¢yþ™ Ÿ#“þœ îûöì_«îû ²Ìy’#Ð
“þyîûy ²ÌyëûŸ£z “þyöì”îû Ÿîû#öìîûîû “þyþ™›yey îyvþüyöì“þ öîûy”
öþ™y£yöì“þ xyöì¢ ~î‚ àþy[þy þ™!îûöìîöìŸ ›y!Ýþîû ˜#öì‰þ †“Åþ îy
Šéyëûy ö…¤yöì‹Ð

10. (b) övþD% xye«yöìhsþîû î,!kþîû ‹˜Ä öþ™îû& ¢Á±!“þ Health
Emergency ö‡y¡ì’y „þîûœÐ

11. (c) ò›y£z œy£zšþó ›y!„þÅ̃  ë%_«îûyöìÜTÉîû 42“þ› îûyÜTÉþ™!“þ !îœ !„ÏþrÝþöì̃ îû
öœ…y ~„þ!Ýþ ßþ¿,!“þ„þíy ëy 2004 ¢yöìœ ²Ì„þy!Ÿ“þ £öìëû!ŠéœÐ

12. (c) ò„þÄy!vþó Ÿ·!Ýþ †Í³þ ö…œyîû ¢öìD ë%_«Ð

13. (c) =vþ¢ xÄyuþ ¢y!¦Åþöì¢¢ ÝþÄy: SGSTV £œ ~„þ!Ýþ þ™öìîûyÇþ
„þîû ëy ¦þyîûöì“þ þ™’Ä ç þ™!îûöì¡ìîyîû ¢îûîîûyöì£ îÄî£*“þ £ëûÐ
¦þyîû“þ ¢îû„þyîû „þ“Å,þ„þ ¦þyîûöì“þîû ¢‚!î•yöì˜îû 101“þ›
¢‚öìŸy•˜# îyhßþîyëûöì̃ îû ›y•Äöì› „þîû!Ýþ 1 ‹%œy£z 2017éôéö“þ
„þyëÅ„þîû £ëûÐ

14. (b) 16éôé18 ~!²Ìœ þ™ëÅhsþ çëûyÓÅþ !šþvþz‰þyîû ~˜y!‹Å ¢y!›Ýþ
xyî%•y!îöì“þ xyöìëûy!‹“þ £œÐ

15. (b) þ™Ýþy!Ÿëûy› þ™yîû›ÄyDyöì̃ öìÝþ ‹œ#ëû oî’ öî=!˜ îy œyœöì‰þéôé
öî=!˜ îûöì̂ ²Ì”!ŸÅ“þ £ëûÐ ~!Ýþ ²ÌyëûŸ£z ‹#îy’%̃ yŸ„þ !£öì¢öìî
~î‚ ‹œ öŸy•öì̃ îû ²Ì!e«ëûy=!œöì“þ îÄî£*“þ £ëûÐ þ™Ýþy!Ÿëûy›
þ™yîû›ÄyDyöì̃ Ýþ oîöì’îû îû‚ œyœ– £œ%” ~î‚ „þ›œy £ëû ˜yÐ

16. (b) !œÝþ›y¢ oî’ œy£zöì„þ˜ öíöì„þ vþzq(“þ £ëûÐ ~„þ!Ýþ !œÝþ›y¢
oîöì’îû îû̂  öî=!˜ îöì’Åîû £ëûÐ ~!Ýþ ~„þ!Ýþ ²Ìy„,þ!“þ„þ !˜öì”ÅŸ„þ
~î‚ ~!Ýþ xÄy!¢vþ îy Çþyîûöì„þîû vþzþ™!ßþi!“þ !˜öì”ÅŸ „þîûöì“þ
îÄî£*“þ £ëûÐ

17. (b) ¢Á±!“þ xöìŸy„þ „%þ›yîû ö›‹îû •Äy˜‰¤þy” œy£zšþÝþy£z›
xÄy!‰þ¦þöì›rÝþ xÄyçëûyöìvÅþ ¦)þ!¡ì“þ £öìœ˜Ð

18. (c) !îû‹y¦Åþ îÄyBþ xšþ £z!uþëûy x˜Äy˜Ä îÄyBþ öíöì„þ öë £yöìîû }’
ö˜ëû “þyöì„þ !îû¦þy¢Å öîûöìþ™y öîûÝþ îöìœÐ

19. (b) œy£zöìþ™‹ vþzêöì¢‰þ„þ x@ÀÄyŸëû myîûy !˜ƒ¢,“þ £ëûÐ x@ÀÄyŸëû
~„þ!Ýþ öëï!†„þ @ùÌ!sþi ëy î!£ƒÇþîûy @ùÌ!sþi ~î‚ xhsþƒÇþîûy @ùÌ!sþi
vþz¦þëû !£¢yöìî „þy‹ „þöìîûÐ

20. (a) xÄy!›îy £œ ~„þ²Ì„þyîû ~„þöì„þy¡ì# ‹#îÐ xÄy!›îy !méôé!î¦þy‹˜
myîûy ‹˜˜ ¢Á™§¬ „þöìîûÐ

21. (d) ¢Á±!“þ ßþºyßþiÄ ç þ™!îûîyîû „þœÄy’ ›sþf˜yœëû ‘my CGHS
iOS’ xÄyþ™ ‰þyœ% „þîûœÐ xÄyþ™!Ýþ ö„þw#ëû ¢îû„þyöìîûîû ßþºyßþiÄ
²Ì„þÒ SCGHSV ¢%!î•yöì¦þy†#öì”îû ‹˜Ä ÷î”%Ä!“þ˜ ßþºyßþiÄ öîû„þvÅþ–
“þíÄ ~î‚ ¢‚ßþiy˜=!œöì“þ xÄyöì:¢ îyvþüyöì̃ yîû ‹˜Ä ‰þyœ% „þîûy
£öìëûöìŠéÐ

22. (c) !þ™“þœ– öîÊyO ~î‚ ‹y›Åy˜ !¢œ¦þyöìîûîû ¢Bþîû •y“%þöì“þ vþzþ™!ßþi“þ
íyöì„þÐ Cu S„þþ™yîûVÐ !þ™“þœ = Cu + Zn, öîÊyO = Cu
+ Sn ~î‚ ‹y›Åy˜ !¢œ¦þyîû Cu + Zn +Ni– „¤þy¢y = Cu
+ Sn ~öìÇþöìe ²Ì!“þ!Ýþ ¢Bþîû •y“%þöì“þ Cuéôé~îû vþzþ™!ßþi!“þ
î“Åþ›y˜Ð

23. (d) ßþº̃ „þ öíöì„þ vþzêþ™§¬ Ÿ· xy›yöì”îû „þyöì̃  ~öì¢ öþ™¤ïŠéyöìœ
xy›îûy Ÿ· Ö˜öì“þ þ™y£zÐ Ÿöì·îû vþzê¢ îy ßþº̃ „þ öíöì„þ vþzêþ™§¬
Ÿ· ö„þy˜ îyhßþî ›y•Äöì›îû S„þ!àþ˜– “þîûœ ç †Äy¢#ëûV ö¦þ“þîû
!”öìëû xy›yöì”îû „þyöì̃  ~öì¢ öþ™¤ïŠéyëûÐ ›y•Ä› ˜y íy„þöìœ Ÿ·
xy›yöì”îû ×&!“þöì†y‰þîû £ëû ˜yÐ ~£z ‹˜Ä ¢)öìëÅ ¢îÅ”y ²Ì‰þ[þ
!îöìßþ³þyîû’ £öìFŠé xí‰þ ¢)öìëÅ !îöìßþ³þyîûöì’îû Ÿ· xy›îûy Ö˜öì“þ
þ™y£z ˜yÐ

24. (a) 52“þ› ¢‚!î•y˜ ¢‚öìŸy•˜ S1985V myîûy ¢‚!î•yöì̃ îû ”Ÿ›
“þšþ!Ÿœ STenth ScheduleV ¢‚ë%_« £ëûÐ ~£z ¢‚öìŸy•öì̃
”œ“þÄyöì†îû ¢‚Kþy !˜•Åyîû’ „þîûy £ëû ~î‚ ”œ“þÄy† !îöìîûy•#
îÄîßþiy @ùÌ£’ „þîûy £ëûÐ xy£z̃ ¢¦þyëû ö„þy˜ ”öìœîû ¢”¢Äöì”îû

Answer with Explanation

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 2  ‹%̃ – 20242

~„þ “,þ“þ#ëûy‚Ÿ ”œ“þÄy† „þîûöìœ “þy ¦þyD˜ îöìœ †’Ä £ëûÐ
xyîyîû ”öìœîû ”%£z “,þ“þ#ëûy‚Ÿ ¢”¢Ä ¢‚ë%!_«îû !¢kþyhsþ !˜öìœ
“þy !›œ˜ !£¢yöìî †’Ä £öìîÐ

25. (c) òxyd!˜¦Åþîû ¦þyîû“þó vþzöì”Äyöì†îû x•#öì̃  ¦þyîû“þ#ëû ö¢˜yîy!£˜#îû
!î›y˜ ²Ì!“þîûÇþy ¢Çþ›“þy îyvþüyöì̃ yîû ‹˜Ä ¦þyîû“þ £zöìœ„þÝþÆ!˜:
!œ!›öìÝþöìvþîû “þîûöìšþ ÷“þ!îû „þîûy !¢öìÞÝþöì›îû ˜y› xy„þyŸ“þ#îû
„þöìrÝþÆyœ ~î‚ !îûöìþ™y!ÝÅþ‚ !¢öìÞÝþ›Ð

26. (b) 249 •yîûyÐ
¦þyîû“þ#ëû þ™yœÅyöì›öìrÝþ ‹y“þ#ëû ²Ìöìëûy‹öì˜ îy ßþºyöìíÅ îûy‹Ä
“þy!œ„þy¦%þ_« !î¡ìöìëû xy£z̃ ²Ì’ëû̃  „þîûöì“þ þ™yöìîûÐ

27. (c) „þy!‹îûyDy ‹y“þ#ëû vþ z”Äy˜– ¦þyîûö ì“þîû x¢› îûyö ì‹Äîû
ö†yœy‡yÝþ ö‹œyëû xî!ßþi“þÐ ~!Ýþ ~„þ!Ýþ £zvþzöì˜öìßþñy !îÙ»
ú!“þ£Äîy£# ßþiy˜ S1995VÐ ~…yöì̃  öîDœ Ýþy£z†yöìîûîû ‡˜c
!îöìÙ» ¢îöì‰þöìëû öî!ŸÐ 2006 ¢yöìœ ~!Ýþ îÄy‡Ê ²Ì„þÒ !£¢yöìî
ö‡y!¡ì“þ £ëûÐ

28. (a) 1577 !…ÊÞÝþyöì· xy„þîîû !Ÿ…öì”îû ‰þ“%þíÅ =îû& îûy›”y¢öì„þ
x›,“þ¢öìîû ~„þ!Ýþ þ™%Üñ!îû̃ # ç ~„þ…[þ ¦)þ!› S500 !î‡yV ”y˜
„þöìîû̃  ~î‚ =îû& îûy›”yöì¢îû ¢›öìëû þ™!îe x›,“þ¢îû Ÿ£öìîûîû
!˜›Åy’ „þyëÅ Öîû& £ëûÐ

29. (c) ²Ì!“þ îŠéîû 7 ~!²Ìœ ¢yîûy !îÙ»‹%öìvþü òçëûyÓÅþ ö£œí övþó
vþz”ëy!þ™“þ £ëûÐ 1950 ¢yöìœîû 7 ~!²Ìœ öíöì„þ !îÙ»‹%öìvþü
˜y˜y „þ›Å¢)‰þ#îû ›y•Äöì› !”î¢!Ýþ þ™y!œ“þ £öìëû xy¢öìŠéÐ

30. (a) !îœ£˜ îû!‰þ“þ !îe«›yBþ ö”î‰þ!îû“þ ~„þ!Ýþ ‹#î˜‰þ!îû“þÐ
~Šéyvþüyç x˜Äy˜Ä ‹#î˜‰þ!îû“þ ›)œ„þ @ùÌsþi=!œ £œéôô îy˜¦þR
îû!‰þ“þ £¡ìÅ‰þ!îû“þ– ¢õþy„þîû ˜¨# îû!‰þ“þ îûy›‰þ!îû“þ–  “%þœ¢#”y¢
îû!‰þ“þ îûy›‰þ!îû“þ ›y˜¢ ~î‚ xÙ»öì‡y¡ì îû!‰þ“þ î%kþ‰þ!îû“þÐ

31. (b) þ™Mþé› þ™!îû„þÒ˜yîû ›)œ vþzöìjŸÄ !Šéœ ”%!Ýþ S1V ”y!îûo“þy
”)îû#„þîû’ ç S2V xíÅ÷ì˜!“þ„þ ßþº!˜¦Åþîû“þy x‹Å˜Ð þ™Mþé›
þ™!îû„þÒ˜y öíöì„þ£z ”y!îûo“þy ”)îû#„þîûöì’îû ¢îûy¢!îû ²Ìëûy¢
‰þyœyö ì˜y Öîû& £œÐ ~öìÇþö ìe Minimum Needs
Programme éô é~îû ›y•Äöì› ö”öìŸîû †!îûî öœy„þöì”îû
‹#î˜•yîûöì’îû ›yöì̃ y§¬ëû̃  „þîûy£z !Šéœ ²Ì•y˜ œÇþÄÐ

32. (c) þîyœ†Dy•îû !“þœ„þ ~„þ‹˜ ¦þyîû“þ#ëû þ™![þ“þ ç ¦þyîû“þ#ëû
‹y“þ#ëû“þyîy”# ö˜“þy– ¢›y‹ ¢‚ßþñyîû„þ– xy£z˜‹#î# ~î‚
ßþºy•#˜“þy„þ›Å# !Šéöìœ˜Ð !“þ!˜ ¦þyîûöì“þîû ßþºy•#˜“þy xyöì̈ yœöì̃ îû
²Ìí› ö˜“þy !Šéöìœ˜Ð !îÊ!ÝþŸ „þ“Å,þþ™Çþ “¤þyöì„þ ¦þyîû“þ#ëû x!ßþiîû“þyîû
þ!þ™“þy îœöì“þ˜Ð

33. (c) !î…Äy“þ x!¦þöì̃ “þy x!›“þy¦þ îF‰þ˜ 2024 ¢yöìœîû òœ“þy
”#˜˜yí ›öìDŸ„þîû xÄyçëûyvÅþéôé2024óéôé~ ¦)þ!¡ì“þ £öìœ˜Ð
¢‚†#“þ– !ŸÒ– ¢‚ßþ,ñ!“þ ~î‚ ¢y›y!‹„þ „þyöì‹ x“%þœ˜#œ
xî”yöì̃ îû ‹˜Ä “¤þyöì„þ ~£z þ™%îûßþñyîû ²Ì”y˜ „þîûy £ëûÐ

34. (a) ¢îû„þy!îû ‰þy„þ!îû Sö„þw#ëû ç îûy‹Ä vþz¦þëû£zV œyöì¦þîû ‹˜Ä
“þšþ!Ÿœ# ‹y!“þ ç vþzþ™‹y!“þöì”îû ”y!î=!œöì„þ !îöìî‰þ˜yîû „þíy
¢‚!î•yöì̃ îû öë •yîûyëû îœy £öìëûöìŠé “þy £œ 335 •yîûyÐ

35. (b) 1861 ¢yöìœîû 25 !vþöì¢Áºîû ›yœöìîÄîû ‹§ÃÐ ›yœîÄ !£ %̈
!îÙ»!î”Äyœëû †öìvþü ö“þyœyîû !¢kþyhsþ ö˜˜Ð „þyŸ#îû ›£yîûy‹
¢Äyîû ²Ì¦%þ˜yîûyëû’ !¢‚öì£îû vþzþ™!ßþi!“þöì“þÐ 1916 ¢yöìœ
îyîûy’¢#öì“þ ²Ì!“þÛþy „þöìîû̃  „þyŸ# !£ %̈ !îÙ»!î”Äyœëû îy öî˜yîû¢
!£ %̈ £zvþz!˜¦þy!¢Å!ÝþÐ „þœy !î¦þy† ç !îKþy˜ !î¦þy† !›!œöìëû
~…yöì̃ 35 £y‹yîû ŠéyeŠéye# þ™vþüyöìŸy˜y „þöìîûÐ ~!Ýþ ~!Ÿëûyîû
î,£_› xyîy!¢„þ !îÙ»!î”ÄyœëûÐ

36. (c) 7.0-7.6

!þ™_îû¢ ~„þ ²Ì„þyîû ö”£y¦þÄhsþîû#’ Çþîû’ ëy ÷“þœ îy ößþ¬£
‹y“þ#ëû …yöì”Äîû þ™!îûþ™yöì„þ !îöìŸ¡ì ¦)þ!›„þy þîûyöì…Ð ~îû î’Å
þ™#“þy¦þ ¢î%‹ ~î‚ ßþºy” !“þ_«Ð !þ™_ ë„,þöì“þ vþzêþ™§¬ £ëûÐ
x“þƒþ™îû !þ™_ßþiœ#öì“þ ‡˜#¦)þ“þ £ëû ç ¢!Mþé“þ íyöì„þÐ !þ™öì_îû
vþzþ™y”y˜ £œ 97-98% ‹œ– 0.7% !þ™_ œî˜– 0.2%
!î!œîû&!î˜– 0.51% ‰þ!îÅ ~î‚ !œÝþyîû ²Ì!“þ 200 !›!œ
£z„%þ£z¦þÄyöìœrÝþ x÷ì‹î œî˜Ð

37. (a) !¢!˜ëûîû xy£z!þ™~¢ x!šþ¢yîû ˜!œ˜ ²Ì¦þy“þöì„þ ˜ÄyŸ˜yœ
!¢!„þvþz!îû!Ýþ †yvÅþ SNSGVéôé~îû !vþöìîûQîû ö‹˜yöìîûœ !˜ë%_«
„þîûy £öìëûöìŠéÐ !“þ!˜ xõÉþ²Ìöì”Ÿ „þÄyvþyöìîûîû 1992 îÄyöì‰þîû
xy£z!þ™~¢ x!šþ¢yîû– î“Åþ›yöì˜ !“þ!˜ !¢xyîû!þ™~šþéôé~
xÄy!vþŸ˜yœ !vþ!‹ !£öì¢öìî „þ›Åîû“þÐ

38. (c) îyöìëûy†Äy¢ £œ þ™‰þ˜Ÿ#œ ÷‹îîlßþ¢›)£ £öì“þ ÷“þ!îû †Äy¢Ð
þ™Öîû ö†yîîû ç x˜Äy˜Ä þ™‰þ˜Ÿ#œ þ™”yíÅ îy“þyöì¢îû
x˜%þ™!ßþi!“þöì“þ þ™‰þyöì̃ yîû šþöìœ öë †Äy¢ ÷“þ!îû £ëû “þy£z £œ
îyöìëûy†Äy¢Ð “þöìî îyöìëûy†Äyöì¢ x!•„þ þ™!îû›yöì’ !›öìí˜ ²Ìyëû
60% íyöì„þÐ ~Šéyvþüy „þyîÅ̃  vþy£zx:y£zvþ CO

2
, H

2
S ~î‚

‹œ#ëû îyÜ™ H
2
O íyöì„þÐ

39. (c) !îÙ» þ™ëÅÝþ˜ !”î¢ 27 ö¢öì²WzÁºîû ¢yîûy !îÙ»îÄyþ™# þ™y!œ“þ £öìëû
íyöì„þÐ 1980 ¢yœ öíöì„þ ²Ì!“þ îŠéîû 27 ö¢öì²WzÁºîû !îÙ»
þ™ëÅÝþ˜ !”î¢ þ™y!œ“þ £öìëû xy¢öìŠéÐ !”î¢!Ýþîû ²Ì•y˜ vþzöìjŸÄ
£öìFŠé xyhsþ‹Åy!“þ„þ ¢Á±”yëû ç þ™ëÅÝþ˜ ö„þöìwîû ¢yöìí ö¢“%þîõþ˜
†öìvþü ö“þyœyÐ

40. (d) xy!„Åþëûy˜ ë%öì†îû @ùÌÄy˜y£zÝþ— !˜¢ ²Ì¦,þ!“þ ²Ìy‰þ#˜ !Ÿœy Çþëû#¦)þ“þ
£öìëû ~£z ›,!_„þyîû ¢,!ÜT „þöìîûÐ öœy£yîû ¦þy† öî!Ÿ íy„þyëû ~£z
›y!Ýþîû îû̂  œyœ £öìëûöìŠéÐ

41. (d) find unexpectedly

42. (a) cause to become very tired

43. (b) Sterile

44. (d) depressed

45. (b) Agnostic

46. (c) at

47. (b) stormy

48. (a) Postpone

49. (a) Pretentious

50. (b) carrying

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å
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51. (d) to be invited

52. (b) Against payment

53. (d) sudden feeling of fear and anxiety

54. (a) get ready for a job

55. (b) To

56. (a) get around

57. (b) hand outs

58. (d) over

59. (d) command

60. (c) at

61. (a) giving

62. (b) Frustrated

63. (b) fascinating

64. (d) no improvement

65. (a) He gold me that there were ceremonies going
on

66. (c) Fastidious

67. (b) Horde

68. (d) Righteous

69. (b) Ignore him

70. (b) welcome

71. (b)
2

0.16; 0.16 0.4; (0.16) 0.0256; 0.161616 

 î,£_› £œ 0.16

72. (a) A, Béôé~îû ‰þyîû=’ „þ›Å”Çþ £öìœ A ç Béôé~îû ~„þöìe „þ›Å”Çþ“þy
Béôé~îû ~„þyîû „þ›Å”Çþ“þyîû 5 =’Ð
 „þy‹!Ýþ 20/5 = 4 !”öì̃  öŸ¡ì £öìîÐ

73. (a) •!îû îÄ!_«îû xyëû = x

10% ‡îû ¦þyvþüy ö”çëûyîû þ™îû xî!ŸÜT íyöì„þ
90

x
100

 

xî!ŸÜT Ýþy„þyîû 30% xy£yîûy!”öì“þ …îûöì‰þîû þ™îû íyöì„þ

90 70
x

100 100
  

90 70
x 1260

100 100
   

1260 100 100 2000
90 70

x   


 

74. (c) þ™)öìîÅîû 9!Ýþ £z!˜‚öì¢ 8 îûy˜ „þöìîû î,!kþ öþ™öìœ– 100 îûyöì̃ îû
›öì•Ä 8 × 9 = 72 îûy˜ xyöì†îû £z!˜‚öì¢îû îûyöì̃ îû †vþü î,!kþ
„þîûöì“þ ‰þöìœ ëyëûÐ
¢%“þîûy‚ î“Åþ›y˜ †vþü (100 – 72) = 28

75. (d) •!îû– •yîû ö”çëûy xöìíÅîû þ™!îû›y’ = x
²ÌÙÀy˜%¢yöìîû–

16 5 16 3
x x 960

100 100

 
   

960 100
x 3000

2 16


  



76. (d)
1 1 1 2 2 2

1 2

M D T M D T

W W


M = öœyöì„þîû ¢‚…Äy– D = !”˜– T = ‡ ù̂Ýþy îy ¢›ëû–
W = „þyöì‹îû þ™!îû›y’
²ÌÙÀy˜%¢yöìîû–

2400 10 9 M 20 8
1 3

W W
4 4

   
 

2

400 10 9 3
M 675

20 8

  
  


x!“þ!îû_« öœy„þ œy†öìî (675 – 400) = 275

77. (c) 4, 5, 6, 7, 8éôé~îû œ¢y= £œ 840
840éôé~îû =!’“þ„þ ëy 13 myîûy !î¦þy‹Ä £öìœ (13 – 11)
xî!ŸÜT íy„þöìî “þy £œ 2520

 2520 + 2 = 2522 ëy 13 myîûy !î¦þy‹Ä ~î‚ 4, 5,

6, 7 ç 8 myîûy ¦þy† „þîûöìœ 2 xî!ŸÜT íy„þöìîÐ

78. (a)
A B C B C D

Rs. 400, Rs. 600
3 3

   
 

A B C Rs.1200   
B C D Rs.1500   

ë!” A = Rs. 500
 D = Rs. (1500 – 700)
 B + C = Rs. 700
 D = Rs. (1500 – 700) = Rs. 800
~…˜ ë!”, A = Rs. 275 £ëû
 B + C = Rs. (1200 – 275) = Rs. 925
 D = Rs. (1500 – 925) Rs. 575

79. (c) †!’öì“þîû î£zöìëûîû ¢‚…Äy
2925 17

3825
13


 

 †!’öì“þîû î£zöìëûîû ¢‚…Äy îyvþüyöì“þ £öìî
= 2 × 2925 – 3825
= 5850 – 3825 = 2025

80. (a)
63 105 21 42

0.63 ; 10.5 ; 2.1 ; 4.20
100 10 10 10
   

 63, 105, 21, 42éôé~îû œ¢y= ç é100, 10, 10,
10ôé~îû †¢y= = 10

21 63, 105, 21, 42

3, 5, 1, 2


 = 630

 0.63, 10.5, 2.1 ~î‚ 4.2éôé~îû œ¢y=
630

63
10

 

81. (c) •!îû– þ™%îû&öì¡ìîû ¢‚…Äy = M
 ›!£œyîû ¢‚…Äy = 66 – M

ö›yÝþ 180 Ýþy„þyîû
5

180 100
9

   
 

 Ýþy„þy þ™%îû&öì¡ìîûy

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 2  ‹%̃ – 20244

4
180 80

9
   
 

 Ýþy„þy ›!£œyîûy þ™yëûÐ

•!îû– x˜%þ™yöì“þîû ¢îûœ îûy!Ÿ = x
²Ì!“þ!Ýþ þ™%îû&¡ì = 3x ~î‚ ²Ì!“þ!Ýþ ›!£œy = 2x Ýþy„þy öþ™öìœ–
3x M 100  2x (66 M) 80 

100
xM ......(i)

3
 132x 2xm 80  

100 100 9
M 30

3x 3 10


   


100

132x 2 80
3

   

440
132x

3
 

440 10
x

3 132 9
  


82. (c) •!îû– îÄ!_«!Ýþîû xyëû = x

îÄy!_«!Ýþ xyëû„þîû ö”ëû 12.5 x
x

100 8
  

10000 Ýþy„þy xî!• 5% xyëû„þîû = 500 Ýþy„þy
þ™îûî“Åþ# 15000 Ýþy„þy xî!• 10% xyëû„þîû = 1500 Ýþy„þy
þ™îûî“Åþ# 25000 Ýþy„þy vþzöìkÅþ 20% xyëû„þîû

20
(x 25000)

100
  

²ÌÙÀy˜%¢yöìîû–  1 x
500 1500 x 25000

5 8
   

x x
5000 2000

5 8
   

3x
3000

40
 

x 40,000 

83. (a) 20Ýþy !vþöì›îû ö„þ˜y ”y› = 25

 1Ýþy !vþöì›îû ö„þ˜y ”y›
25

1.25
20
  `

12Ýþy !vþöì›îû !îe«ëû›)œÄ = 20

 1Ýþy !vþöì›îû !îe«ëû›)œÄ
20

1.66
12
  `

 1Ýþy !vþöì›îû vþzþ™îû œy¦þ (1.66 1.25) 0.41  `

 50 Ýþy„þy œy¦þ „þîûöì“þ
50

120
0.41

 Ýþy !vþ› e«ëûéôé!îe«ëû

„þîûöì“þ £öìîÐ
84. (c) •!îû– †¢y= £œ = x œ¢y= £œ = 45x

x 45x 1150 
1150

x
46

 

 xþ™îû ¢‚…Äy
(45 25) (25)

225
125

 
 

85. (b) Aéôé~îû îy!¡ìÅ„þ !î!˜öìëûy† = 12000 × 12

éBôé~îû îy!¡ìÅ„þ !î!˜öìëûy† = x × 9

Céôé~îû îy!¡ìÅ„þ !î!˜öìëûy† y × 6

²ÌÙÀy˜%¢yöìîû– œ¦þÄy‚öìŸîû x˜%þ™y“þ 2 : 3 : 5 £öìœ–
2x = 12000 × 12

SAéôé~îû !î!˜öìëûy† “%þœ˜y „þöìîû þ™y£zV
 x = 12000 × 6

 Béôé~îû !î!˜öìëûy† 3x = 3 × 12000 × 6
 Z × 9 = 3 × 12000 × 6

 Z = 12000 × 2 = 24000

86. (b) ²Ìí› þ™y£zþ™!Ýþ myîûyéôôôé
18 !›!˜öìÝþ þ™)’Å £ëû 1 x‚Ÿ

1 !›!˜öìÝþ þ™)’Å £ëû 1
18

 x‚Ÿ

!m“þ#ëû þ™y£zþ™!Ýþ myîûyéôôôé
12 !›!˜öìÝþ …y!œ £ëû 1 x‚Ÿ

1 !›!˜öìÝþ þ…y!œ £ëû 1
12

 x‚Ÿ

”%!Ýþ þ™y£zþ™ ~„þöìe ö…yœy íy„þöìœ 1 !›!˜öìÝþ …y!œ £ëû

ö‰þïîyF‰þy!Ýþîû  1 1
12 18
  x‚Ÿ îy 1

36
 x‚ŸÐ

1
36

 x‚Ÿ …y!œ £ëû 1 !›!˜öìÝþ

1 x‚Ÿ …y!œ £ëû 36 !›!˜öìÝþ

1
2

 x‚Ÿ …y!œ £ëû 136
2
  !›!˜öìÝþ = 18 !›!˜öìÝþ

 ö‰þïîyF‰þy!Ýþ 18 !›!˜öìÝþ …y!œ £öìîÐ

87. (d) 30% A 0.25 B  
1

30% A C
5

  

3 1
A B

10 4
 

30 1
A C

100 5
 

12
B A

10
 

15
C A

10
 

12 15
A : B: C A : A : A 10 :12 :15

10 10
  

88. (a) ²Ìí› öÝþÆ̃ !Ýþ !m“þ#ëû ëye#öì„þ x!“þe«› „þîûöìî xíÅyê 125m
!˜öì‹îû ÷”‡ÅÄöì„þ x!“þe«› „þîûöìîÐ öëöì£“%þ öÝþÆ̃  ”%!Ýþ !îþ™îû#“þ
!”„þ öíöì„þ xy¢öìŠéÐ
¢%“þîûy‚ vþz£yîû œ¸þ †!“þöìî†– (30 + 45) km/hr.

75 km/hr. †!“þöìîöì† 125m öëöì“þ ¢›ëû œyöì†

125
5

75
18




ö¢öì„þuþ 125 18
6

5 75


 


ö¢öì„þuþ

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



5Achievers

89. (a) 1 1 1 2 2 2

1 2

N D H N D H

W W

   


250 12 6 60 8 H

W 2W

   
 

2

2 50 12 6
H 15

60 8

  
  


‡ ù̂Ýþy

N = No. of Working People
D = No. of Working Days
H = No. of Working Hours
W = Work completed

90. (d) x, x 1, x 2, x 3, x 4, x 5     £œ Šéëû!Ýþ
e«›y˜%¢yöìîû ¢‚…Äy
x x 1, x 2 36   
or, 3x 3 36 
or, x 11
Ç%þo“þ› ¢‚…Äy = 11

î,£_› ¢‚…Äy = 11 + 5 = 16

öëy†šþœ = 11 + 16 = 27

!˜öì”ÅŸ ƒ ²Ì”_ Ÿ·=öìFŠéîû ¢öìD ~„þ²Ìßþi ö¦þ˜!‰þe ö”çëûy
£öìëûöìŠéÐ Ÿ·=FŠé!Ýþîû ²Ì“þ#„þßþºîû*þ™ ¢!àþ„þ !‰þe!Ýþ !‰þ!£«“þ „þîû&˜Ð

91. (c) ‘C’ ö„þyÁ™y!˜öì“þ !î!˜öìëûyöì†îû þ™!îû›y’
1 1 20 5 4 11

1
4 5 20 20

 
    

þ²ÌÙÀy˜%¢yöìîû– !î!˜öìëûyöì†îû
11

20
 x‚Ÿ = 2750 Ýþy„þy

¢%“þîûy‚ !î!˜öìëûyöì†îû ö›yÝþ ›)œ•˜
2750 20

5000
11


   Ýþy„þy

¢%“þîûy‚ ‘A’ ö„þyÁ™y!˜öì“þ !î!˜öìëûy†
1

5000 1250
4
    Ýþy„þy

92. (d) !ßþiîû ‹öìœ ö˜ï„þyîû †!“þöìî† = x

ößþËyöì“þîû †!“þöìî† = y

ößþËyöì“þîû x˜%„)þöìœ ö˜ï„þyîû †!“þ
200

x y km / hr 50km / hr
4

   

ößþËyöì“þîû ²Ì!“þ„)þöìœ ö˜ï„þyîû †!“þ

200
x y km / hr 40km / hr

5
   

(x y) (x y) 50km / hr 40km / hr     

x 45km / hr 

93. (d) •!îû– ö›yÝþîû ¢y£zöì„þœ xyöìîûy£#îû †!“þöìî† V km/hr ~î‚
¢›ëû œyöì† T ‡ ù̂Ýþy

²ÌÙÀy˜%¢yöìîû–
450 450

1
V V 5
 


S5 km/hr öî!Ÿ †!“þöìîöì† ö†öìœ 1 hr „þ› ¢›ëû œyöì†V

450 V 450

V V 5


 


2

V 2250 5V 450V   
2

V 5V 2250 0   
2

V 50V 45V 2250 0    

V(V 50) 45(V 50) 0    

(V 50)(V 45) 0 V 45km / hr     

94. (d) •!îû– A ç B öÞÝþŸöì̃ îû ›öì•Ä ”)îûc ‘D’ ~î‚ !˜•Åy!îû“þ ‘T’
¢›ëû œyöì†
50 km/hr †!“þöì“þ ö†öìœ 5 min x!“þ!îû_« ¢›ëû œyöì†
!˜•Åy!îû“þ ¢›ëû öíöì„þ

D
T 5........(i)

50
  

40 km/hr †!“þöì“þ ö†öìœ 11 min x!“þ!îû_« ¢›ëû œyöì†
!˜•Åy!îû“þ ¢›ëû öíöì„þ–

D
T 11........(ii)

40
  

(i) ÷ (ii) „þöìîû þ™y£z—

D / 50 T 5

D / 40 T 11





4 T 5

5 T 11


 



4T 44 5T 25 T 19     

95. (c) †!“þöìîöì†îû x˜%þ™y“þ ç ¢›öìëûîû x˜%þ™y“þ îÄhßþy˜%þ™y!“þ„þ–
†!“þöìîöì†îû x˜%þ™y“þ = 21 : 16

 ²Ìí› ‹öì̃ îû ¢›ëû œyöì†

3
57

4 hr
2tx



!m“þ#ëû ‹öì̃ îû x!“þe«yhsþ ”)îûc
231 16

44
4 21


 


!„þ!›

ë…˜ ~„þ£z ¢›öìëû ëyey „þöìîûöìŠé
96. (d) •!îû– îy!¡ìÅ„þ ¢%öì”îû þ™!îû›y’ r%

²ÌÙÀy˜%¢yöìîû–
500 r 4 600 3 r

190
100 100

   
 

20r 18r 190  

190
r 5

38
  

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å



xÄy!‰þ¦þy¢ Åî¡ìÅ éôé 12– £z¢%Ä éôé 2  ‹%̃ – 20246

——————

97. (b) •!îû– x þ™!îû›y’ Ýþy„þy t îŠéöìîû xy¢œ 12% ¢%öì” ‰þyîû=’ £öìî
x t 12

4x x
100

 
 

t 12 100 3
3 t 25

100 12

 
    

98. (a)

1 1 1
13 3 3

1 1 1 9
3 3 3

 


 ~îû

1 11
1 13 3

1 1 19 99
3 9 3


   
 

1 1 0
9 9
  

99. (a) •!îû– •yëÅ›)œÄ £œ x

80x
2400

100
   S20% Šéyöìvþü !î!e« „þîûöìœV

x 3000 
25% Šéyöìvþü !î!e« „þîûy–

75x 75 3000
2250

100 100


  

100.(c) x˜%þ™yöì“þîû ¢îûœ îûy!Ÿ x £öìœ–
î,!kþîû xyöì† Aôé~îû ›y!¢„þ öî“þ˜ 3x

î,!kþîû xyöì† éBôé~îû ›y!¢„þ öî“þ˜ 5x

3x 200 13

5x 200 21


 



63x 4200 65x 2600   

2x 1600 x 800   

é Aôé~îû ›y!¢„þ öî“þ˜ 3 × 800 = 2400 Ýþy„þy

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å

xÄy!‰þ¦þy¢Å


